1. Go to a safe place where you can get help

2. Tell someone you trust what happened as
soon as possible

3. Do not throw away your clothes or
wash yourself

4, Put the clothes you were wearing in a
paper bag or wrap them in newspaper

Go to a hospital as soon as possible

SR NN
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Tell the police if you are threatened by the
perpetrator at any time

and pregnancy

the following national numbers:

086 0010 111
10111
0800 055 555

SAPS Crime Stop:

SAPS Emergency Number:
Childline:

ISBN 978-1-4315-0026-0

1 260

9778 431‘500

6

It is advisable to report the rape to the police

8. Get treatment and medication within 72 hours to
prevent HIV, other sexually transmitted infections

If you or someone you know is being sexually harassed or
abused, get help to stop the abuse. Speak to someone you trust,
tell your school, go to your local police station or phone one of

Lifeline: 011 781 2337/0861 322 322
Department of Basic Education National Hotline: 0800 20 29 33

EE R

1°°8 G °PP+D) — HSTTONT NI SOILVINAHLVIA

MATHEMATICS IN ENGLISH"

0-92¢00-STEY-T-8.6 NASI

MATHEMATICS IN ENGLISH basic aducation
GRADE5-BOOK 1 « TERMS1& 2 e

ISBN 978-1-4315-0026-0 Basic Education
THIS BOOK MAY NOT BE SOLD. : REPUBLIC OF SOUTH AFRICA

13th Edition




&)

©Centents

No. Title Title
RI Base Ten Counting ii 23a 2-D shaPes 70
RIb Base Ten Counting (continued) iv 23b 2-D shupes [continued] 12
R2 Numbers O —10 000 vi 2ka Capacitﬂ yA
R2b Numbers O =10 OO0 [continued] viii 2[..b Capacitl:j 76
R3 Patterns in addition and subtraction | to IO OO0 X 25a Numbers O =20 000 18
R3b Patterns in addition and subtraction | to |0 OOO continued xii 25b Numbers O =20 000 (continued] 80
R Multiples and Mu|tif)|icution Xiv 2b Rounding of f 82
R[..b Mu|tiP|es and mu|tiP|ication (continued] XVi 27a Rounding of f to the nearest 5 8[,.
R5 Division and Factors xviii 27b Rounding of f to the nearest 5 (continued] 8b
R5b Division and Factors {continued] XX 28 ComP|eting numbers 88
Rb Number sentences XXii 29q Addition with up to 5’di3it numbers 90
R7 Ratio and Rate XXV 29b Addition with up to 5'di3it numbers (continued] 92
R7b Ratio and Rate (continued] XXVi 30a Subtraction up to 5-digit numbers q[,.
R8 Fractions XXViii 30b Subtraction up to 5'di9it numbers (continued] 96
R9 Fraction Pr‘oblems XXX 3l Aclding and suhtrqcting [,.'digit numbers I8
RIO MoneH Prob|ems XXXii 32 MoneH Prob|ems 100
RII Length XXiV 33 quing, BuHing and Se”ing 102 B .
RI2 Area and Perimeter Xvi 3L Fractions 104 ' Mrs Ang'e M0+Shekga, Dr Reg’nah MhGUIe
RI3 Capacitﬂ XXXIX 35 Equivu|ent, and coqurinS fractions 106 Minis +er Of DePu+y Minis +er Of
RI4 2-D Shupes and 3-D Objects xl 3b Grouping and shurins |ec|ding to fractions 108 Basic Educa-l-ion Basic Educa-l-ion
RIS Mass xlii 37 Fractions and division 10
Rlb Data Hond|ins xliv 38 Fractions: halves to twelfths 112 3
la Numbers to | OO0 2 39 Addition and subtraction of fractions with the same | Il _‘ 4 i These WorkbOOkS have been de ve IoPed for +he Chlldren
b | Numbers tol 00O (continued) L denominators . of South Africa under the leadership of the Minister of
LO M ing inst/ t 1<) & 5 q q
2| Numbers Oto10 000 6 Ty TR Basic Education, Mrs Angie Motshekga, and the Deputy
3 More numbers O to |0 000 8 Lla Conver‘tlng between |en3ths 118 M N + -f B . Ed + ) D ? : h Mh /
Number sentences 10 [.."3 Convertins between |en3t|'\s [continued) 120 Inister o asic ucartion, r eg’na adle.
5 | More number sentences 12 42a_| Metros and fractions 122 The Rainbow Workbooks form part of the Department
b Additi to L-digit b | [..2[) Metres and fractions [continued) |2[.. L : o . . .
. ionupto b-digit numbers b 3 | Froctio theouh o6 of Basic Education’s range of interventions aimed at
bb Addition up to [,.'digit numbers [continued) b l* ractions t roug measurement, 1 " .
Ta | Addtion problems n Lo | Muliplcation: 2-digts by 3-dgits and 128 improving the performance of South African learners
7o | Addition Problems (continued) 20 . ;‘T'ﬂ'tls byldigh i 5 in the first six grades. As one of the priorities of the
8a | Subtraction from 4-digit numbers 22 b AUA,t;: EETndzde::tu?u::d]d gt ond 9 Government's Plan of Action, this project has been
8b | Subtraction from 4 “digit numbers (continue) 24 45 | Rate 132 made possible by the generous funding of the National
Ya Subtraction problems 26 R Il
=F : 46 | Multiples and factors 13 Treasury. This has enabled the Department to make these
9b Subtraction Problems (contlnued] 28 47 Factors 136
10a | Addtion and Subtraction problems up to 5-cigit numbers 30 e workbooks, in all the official languages, available at no cost.
— - -~ [,,8 Distributive ProPerLH of number 138
:'Ob ':d:'t'“’" °"j f“:’ltm"t'm problems up to & digt numbers 22 49 | Multiplication: 3-digits by 2-digits 140 We hope that teachers will find these workbooks useful
atterns and tables
5 Pettorre o flow doars % SO | Flat or curved surfaces 142 in their everyday teaching and in ensuring that their
S 5l Rectcngulcr Prisms and cubes IAA A
13| Number Patterns 38 T b learners cover the curriculum. We have taken care to
Ik | More number patterns 4O 53 | Poygons and ireles 18 - guide the teacher through each of the activities by the
Sa | Muliplication I digit by 2-digts b2 5 | Making 3D objects 150 inclusion of icons that indicate what it is that the learner
15b Mu|t|P||cotlon: |'dlglt bH 2’d|3|t.s (continued) Ll 55 Geometric Pct.terns 152 "‘} should do_
|ba Multiplicction: 2-digits by |-digit, 2-digits by 2-digits Lb 56 Investigate Patterns 154, 5 =
lbb Mu|tlp||cqt|on: Q’dlglts bH | dlglt, 2'd|g|ts bH 2'd|3|ts (contlnued] L8 57 Extend, desoribe and credate Pqtterns 156 ' We Sincerely hOPe -f-ha-l- Children WI” enjoy Working
7a Multlpllcatlon: Q'dlglts bs 2'd|3|ts and 3'd|3|ts bs 2'd|3|ts 50 584 Lines of ssmmetr‘ﬂ 158 ':- 'I‘hrough +he book as ‘H’)ey gr‘ow Clnd Iearn, Clnd ‘I‘ha‘f‘ you, 'f'he
I7b Mu|ti|:>|icqtion: 2‘digits bH 2'digits and 3‘di9its blj 2'di3its 52 58b Li £ N [ ti d] 160 B i .
(continued) ines of symmetry teontinue ¥ teacher, will share their pleasure.
K i 5% Shorins and grouping Pro|:>|ems 162 TR,
|80 GI"OU PInS and shcr‘lng Pr‘oblems 54 b Sh - d ; bl - d] .| I W . h d / 5 .
|8b Gr\ou P|n3 qnd shqring Problems (continued] 56 5q G'T‘II'\S an SFOUPIHS PT‘O iems [contlnue Iblp ]l_‘, e WIS you an your earners every success In us'ng
19 | Division: 3-digit by I-digit 58 blo Rfo'f - A — :bb - these workbooks.
200 quculqte time bo 22 DTVTS{OH Wlthout r‘e'm:mders uslng Clue oor‘ds :g
20b Caleulate time (continued) 62 b3 va?s!on vith remaincers :72
2l More time bl vision
Published by the Department of Basic Educati -1- - -
220 | Datahanding bb 64 | Division problems 1t 22 ;rﬁbenysrrietepa e oS mAueEon ISBN 978-1-4315-0026-0
22b Data hanc"ing (continued) 68 ;:)el::)l:ﬁfrica This book may not be-sold. - .
. . The Department of Basic Education has made every effort to trace copyright holders but
© Department of Basic Education if any have been inadvertently overlooked the Department will be pleased to make the
Thirteenth edition 2023 necessary arrangements at the first opportunity.



a IZQVléwn wm/cékee%é 2l to rll

Key@e/o @&aeér

Q kaékee%é'l to bl

Book 2
Q Worksheets: b5 to |44

ENGLISH




®

The structure of a worksheet

Worksheet number Worksheet title

(Revision R1 to R16,
Ordinary 1 to 144)

pA
{131 1
Topic introduction yi
(Text and pictures to help you think about

and discuss the topic of the worksheet.) O] O
10+4= or7+7=

9+2=|;|or10+1=|;|
10+2=|;| Dr7+5=l;|

1. Fill up the tens.

. . - =10 - =10
Term indicator wa o s
(There are forty worksheets per term.) - —_ =l .

[exa] =w [ov0 | =10
a.3+l;|:l;| b.5+l;|:l;|
1 d.6+l;|:l;| el+|;|:|;|
Questions == Nais

2. Fill up the tens.

| dof faee | cm e ow
Colour code for content area B = [ e
Content Side bar colour [sva] =00 [seva] [=w0

Tt a,32+|;|=|;| b,46+|;|=|;|
Revision Purple o - oo

Number Turquoise noard-LJ

Patterns and
functions (algebra)

Space and shape
(geometry)

Measurement Green
Data handling

Electric blue

Orange

h} Adding by filling the tens

Which sum is easier to add? Why? In one minute, how many combinations
can you find that add up to 507
8+7:|;|or10+5:|;|

Are there more combinations that
will add up to ten?

c2+ -
r7+J-0J
el 10

Find another five combinations
that will add up to 100.

Language colour code:
Afrikaans (Red), English (Blue)

3. Fill up the hundreds.

Example: 486

Example frame (in yellow)
a. 368 ‘ ‘b 371 ‘ ‘c 684 ‘
d.519 e. 225 f. 568
\ | L | L |
Q.274 h. 479 i. 383
\ | | |
4. Calculate the following:

Example:

Calculate 2 486 + 48

2486 + 48

= (2486 +14)- 14+ 48

=2500 + (48 - 14)

=2534
a.3526+97 = b.6537 +84 = C.4833+95= . . .

‘ ‘ ‘ Fun/challenge/problem solving activity
(This is an end of worksheet activity that may include
d. 1789 +39= €©.2786 +56 = f.8976 +41= . PRy
fun or challenging activities that can also be shared
‘ with parents or brothers and sisters at home.)
g.4324+98= h.8159+62= i.6847+73=
The concert
;V:z‘dmp:‘)nple came to see a concert. There were 68 security guards. How many people were in the Te aCher assessment I‘ati ng ,

signature and date




3 Revision

Key concepts from Grade 4

WORKSHEETS R1 TO R16
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1.

Base Ten Counting

Note that the first
16 worksheets
will be revision
activities.

Do not count the
individual oranges.
How many oranges are there? BIIIIIIIDIDY Countthemas
See how fast can you count them. 33333323333 groups.
2333222
20932229
23333232
22392299
22323330
3232233
009D DDD 5522290
Count the oranges.
3333222233
333D IDIDID
b. 2333233323
3233333332
3323232322332
32339223332
233323333
333333333)
3323233323233)
2322232232222
232223032323 303233203239 23232322329 202232323322 @
233232332222 2222222233 22232232222 2222222222
23933329929 232992933239 23IIIDIIIDID 23333333DD
233223309923 22II3339229 22332333333 22323233ID
233333IIFY 3IIIFIIIIDD 233333333 33333333
233332322233 IIIDIIDIDIDIDD 233333222 22222232233 D
IIIIIIIIDD DIDIIDIDIDIDDD IDIIIDIDIIDDD 233232323223 D
3333 IDIIIDDI DIDIIDDIDIDIDIDID 3IDIDIIDIIFIDID 33IDIIIDIDD
33233332222 33333 IDIDIID 3333332220 22233232220
IIIIIIDIDFD DIDIDIIDDIDD IIDIIDIDIDIDIDD 2222222229
2232222329
22323322232
29222322222
d 292323020322
- 33333223232
22322322220
00000 33333333
222223332 D
2223322222
3333233222

9 2 8 4 8 G ¥ & © 40 9 92 9% 94 96
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3233222

.qﬁ.

223232393329
2323232303
2332332332
2322322232322

>

>

>

2

4

2

>
23222332309
23323323323
2222222222

assssnen
anssnans
afnAannnen
ansanenns

=)
L)
s
L5
a
L5
s
L)
s
L
anasenn ﬂ_“
s
"
=)
L5
s
o
”
L.

()

beleLilala bl bt
Lelel-1 R Lol R-1. 1 ]
aasasssnne
Lalalalolololalalalal
falalalalodslilolela]

asasashdane
aasannn sas
Aaeranaann saanasnnsfn
aasaannant aAasannanfen
aAasafsNenNs AOBALBSHBAD

blelalatalolels botal
aashensfes
Lalolalobodalolodole)
Lalalalololslalalolal
aasaonnens
faasassnsennse
aasansnean
Ladedalogodoload Do ]
aasansnnns
aasansnons

aeoasnnesn
Ladalalof dalolol o]
aasassands
balalalolololalololol
aasansaens
aesaonnens
aasaontens
aasandasns
Ladelat-2 o lid Loy ]
aasansnons

BAESHHOOHOHH
aassesnasn
Asasaseann
]
$333332ese
SN0t nensannans
bbb+t AeAAAAnARs
b4 43t Asnsannnans
AesaRRaARs ascsoansse
L]
AeAARRARes
Aoaannannn
AasanRAAAR
AAAARRARAn

SaGHLHGHS
Lol l Rt 0 1 0]
alelalalalololalals]
L-L-0-L-2-4-1-8-1-1-}
asasanbanas
aaannoaas
asasannanas

aasannasan

aasaasnnan
Lal-dal Rt t D1 0]
aasasbasas
(-l-0-1-2-4-1.0-1-0.}
asasanbanas
aaraspoaas
aasassndnbea
aasansanas
fadolad- 2o doliRo Dol
aasansaoas

continued @
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twBase Ten Counting continued

lelelolalolalalslels]
e e Lo Lo lolodololsls
asanesense
el laloloLolalelel
aessooansn
s lelolololololole o]
Lalalalololololalslsl
kel lololololsolsle)
L lalololololololsls]
ol lololelolelolele)

How many oranges are there?

Q
S
®
(%]
Q
=
e}
>
®
=
(%]
o
X
o
o)
©
C
®
(2]
(@)
®
o)
Q
=
—
%)
Q
(@)
C
©
o
Q
(%]
Q
=
e}
©
(Y-
(@]
©
[}
@]
+—
Q
=
e}
)
c
>
o
@)
o

number of oranges as above.

- 00000

AVAYE

A7 - O T

A0 0 Y P
L lofslololotalalnlsl
Lo ledobtodololalalolal
faladalalslalalallsl

A A T

Lo fabe Lo bagobilabel
b Lidedalolobolalobal
L lofslololotalalnlsl
LedededololoRalololsd
baledalalslalslalalsl

A7 - O T

o N
alelalogulalall
=Ll lataladslsl

il b L lnta Lo Lol
el fabe Lo bogabi Lol

A0 0 Y P

L lofslolologslalelsl

Loledobolrlofalalotsl

faladalalslalalallsl

I Y R N

Hﬂis—;il
el LeladaLalalsl
el fabe e bagobilabe]
bl gk Lodopabo Lo bl
Lo Lofabolologulol sl

Il_ﬂ_ﬂ-l;“ﬂ.ﬂ
taledalalslalalallnl

o e S T

o O e R
Lo laletolalalod
Anannann

bl b Lle o Lo Lo
bedodebede Lot b Lo el

P A S

8 S O P e o
Hﬂ‘lﬂl.’g
Baannons
bl Lol aLalatal
brdodabedebogo L lyLel
baliidede Lobo o Lo do bl
Lo lafabolalmdololnli

I:ﬂﬁﬂlﬂ“ﬂl_
haledalalslalalalols]

10 99 92 98 94 96
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3. Each box shows the total number of objects inside each box.
Write down the total number of objects.
How quick are you?
What you need: What to do:
- Play in pairs.

— Cut-out the cards from the

back of your book.

- Place them face down on your

desk.

- You choose five cards and your

partner chooses five.

— Turn them over at the same

fime.

- See who can give the total the

quickest.

- Check your partner’s answer.

- Do the same using 6, then 7, 8, 9

and 10 cards.

- The person with the most
correct answers is the winner.

98 98 17 96 98 &) &= 22 720 24 2682788288 - 30




Numbers 0 — 10000

What number will these cards make?

In digits
itis

{ =) m) 3621
|
Eight thousand six hundred ~ Inwords
itis

and twenty-one

1. Complete the following and also write your answers in words:

N
a.

three hundred and forty

8 |=
- -

J 9 2 8 4 B G ¥V 8



3. Complete the following as in the example:

723 =7 hundreds + 2 tfens + 3 units

continued @

05 98 47 90 90 0 X 22 0 M 28 B



Nurnbers O — 10 000 continued

. Look at the first example (a).
Now write the other numbers in expanded notation.

. 654 =600+ 50 + 4

9 2 8 4 8 B ¥ 6 © 90 %W 92 9 94 1§




5. Write the following in words.

b. 300

c. 8000

d. 730

e. 2200

f. 4729

What you need:
Cut-out 3.

What is the size of your number?

Remember
What to do: zero is a

. . place holder.
— Play in pairs. r

- Each player rolls the thousands (blue),
hundreds (red), tens (green) and units
(yellow) dice.

- Each player then makes this four digit
number with his or her own number
cards.

- The winner is the player with the greatest
number.

- Do the same activity five times.




ATy =
- Revisten
R3a2 m¥=Ralterns in addition and subtraction
‘! 50110 000

What do addition and subtraction mean?

What does
addition
mean?

SR

What does
subtraction

mean?

1. Complete the pattern:

+ 100 + 100 + 100
Y
a.
— 200 — 200 — 200
v
b.
+ 500 + 500 + 500
Y
C.
+ 300 + 300 + 300
Y
o [ a0 [ s ][ 120 ]

- 400 - 400 - 400

| sboo ([ et || ade’ |

1 2 8 4 8 G ¥V 8 ¢ 90 %W 98 98 94 ¢



2. Complete the pattern:

a. 200, 400, 600,

. 400, 800, 1 200,

c. 1000, 1 500, 2 000,

d. 2000, 8 000, 7 000,

e. 7700, 7 600, 7 500,

3. Complete the table by filling in the missing numbers.

Complete to the next 10

Complete to the next 100

2

continued @




'
R3b Pafiterns in addition and subtraction &g
‘! 0 10 000 continued

Examples: Example 2:

Example 1: 32 47

5783+ 129 + 7 3 8

=5000+700+80+3+ 100+20+9 15 (8+7)

= 5000+ 800+ 100+ 12 7 0 (40 + 30)

= 5000+900+10+2 9 00 (200 + 700)

= 5912 + 3000 (3 000)
39 85

4. Use both methods above to calculate the following. Write down the steps you use.
Q. 654+ 43 = b. 572+ 317 = c. 1671 +327 =

Continue on an extra sheet of paper.

d. 2164+ 42= e. 4256 +2 487 = f. 2194+ 3642 =

Confinue on an extra sheet of paper.

W 9 2 8 4 B 8 ¥ 8 O J0 W 9¥' v&

— o —



Examples:
Example 1: 8 3 2
8342 -2 131 - 2 1 31
= (8000 -2 000) + (300-100) + (40-30) + (2-1) 1 (2-1)
= 6000+ 200+ 10+ 1 10 (40 — 30)
= 6211 2 00 (300 - 100)
- 6 0 0 0 (8000 -2000)
6 2 1 1

5. Choose one of the methods above to calculate the following. Write down the steps

YyOu use.
a. 7182-61= b. 7 546 — 431 = C. 8764-3451 =
Continue on an extra sheet of paper.
@ 03
d. 2456 -83 = e. 4658-999 = f. 8759 -4793 =

Confinue on an extra sheet of paper.

What is the size of your number:

What you need: What to do:

— Use the 10s, 100s and — Roll the tens (green) dice.
1 000s dice made in the — Add the number landed on, to the first number on
previous activity. the blue card. Write your addition sum on a piece of
— Piece of paper. el

— Do the same with the next four numbers.
— Repeat the activity with the 100s and 1 000s dice.

— Learners check each others’ additon sums. .
Repeat the

— The winneris the person with the most correct answers. activity using
subtraction.

U8 98 17 U6 &



Multiples and Multiplic ation

What do multiples and multiplication mean? Use the words to help you to describe
them.

What does mul’rlply
multiplication roups of
X mean? ; 9 P
times
multiplied by
Multiples example:
e Some multiples of 2 are 2, 4, 6, 8, 10, 12, 14, 16, 18, ...
¢ Some multiples of 4 are 4, 8, 12, 16, 20, 24, 28, 32, ...
1. Complete the number board. We have done a few for you.
a. Colour all the multiples of 2 yellow.
b. Circle all the multiples of 3. @

c. Make a triangle around the multiples of 4.

1 4 5 § 7 8 9

(3
o)

D [ BN | Y

B

2

© oo N o o B~ w Nk X

36

W 9 2 8 4 B B ¥V 6 8 90 9 9 198 94 8
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2. Estimate the number of fruit. Then write two multiplicaton sums '

‘see wee

12 4x3=12 3x4=12

- 99 00 00 00 00 00
o o0 o o o O

o 00 00 00 00 90

0P eeRee

PPPPPOPOREe
P9PPPOPOPREe

Sign:
Date:

U5 918 17 96 98 2 %= 22 726 28 2682788288 - 30
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Revisien

Multiples and multiplic ation continued

0000
0006
0000
0006
0000
0000
0000
0000
0000
00006

R4b
y 44

g°)

®

aSssnonanae
asassoson8d
Sesn60060800
anssanansns
e lalelalalolalalsls]
aossasnsss
asasaneass
aassassase
Sonansasss
essossnsad

asssonanas
Lo lelololalodlolols]
e lalolalololodolsls]
ansaansans
aoo0ano06606
Sonasensas
asecaseasns
saasssssas
aoossansane
essossss8d

S8osnon6008
aoeen0Oo6n00
aaannsnsss
asscananss
adoasos666
aonasensns
asosaceans
e dadalolalololatole]
alaledalalolotollol
eannmnnnnn

aSssnonanae
asassoson8d
Sesn60060800
anssanansns
e lalelalalolalalsls]
aossasssss
asasaneans
aassassase
alaledalalolodol lo)
eannmnnnnn

sasanaonas
e laladodalelodolsl]
Ssessonno8es
asssasoans
ecosonnann
aosssanans
aaasaseass
aassasssns
sososnsaas

S600000000

Ssesannones
sl Rslalalalslolels]
sesonsnss8
aassssaans
asessoensssn
asoesassas
asec8nenss
Lol lalodololsto L]
fOoosan00608
el odelololededolole)

sasanaonas
e laladodalelodolsl]
Ssessonno8es
asssasoans
ecosonnann
aosssasaens
asasaseass
aassasssns
fOoosan8ae08s
easananonn

1 U

W U Ue

0

r_|
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S
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Examples:
Example 1:

(50 + 6) x5
(50 x 5) + (6 x 5)

3. Use both methods above to calculate the following. Write down the steps you use.

Q. 24x 3=

Example 2:

OO O|u»; o~

b. 52x9 =

Continue on an extra sheet of paper.

C. 23x21=

d. 46 x37 =

Continue on an extra sheet of paper.

In one minute | can ...

What you need: What to do:
Use the 10s and 100s
dice made in the
previous activity.

Piece of paper.

5 18 17 U

Roll a 10s dice and then a 100s dice. Multiply the Q )
two numbers. Write down the multiplication sum
with the answer.

Repeat doing this until your teacher says stop.
Give your sums to your partner to mark. (
The winner is the person with the most correct

multiplication sums. 7
Do the same activity, but roll the 100s dice twice.
/\




Division and Factors

What does division mean? Use the words to help you to describe it.

divide
What does .
division remainder
mean? ..
divided by
share

1. Look at the coloured squares. Write a division sum for each.

a @24:¢=40r24+4=¢ b @

c. @

W 9 2 8 4 B B ¥V 6 8 90 9 9 198 94 8



2. Complete the flow diagrams:

a

35

Input

Rule

\

Output

/

i
=

b

Input

25

15

50

45

35

Rule

Output Input

42
6

e -

)
/

30
36

3. Write a word problem and division sum for the following:

Rule

)
/

Output

Xix
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ion and factors continued
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Examples:
Example 1:

42+2
(40 +2) +2
V)= 7))+ (12 + 2
20 + 1

= 2]

4. Use the method above.

Example 2:

369 +3

(300+60+9)+3

(300 + 3) + (60 +3) + (2 +3)
100+20+ 3

123

Write down the steps you use.

Q. 64+2= b. 63+3= C. 48+ 4 =
Confinue on an extra sheet of paper.
d. 55+5= €. 448 +4 = f. 318+ 3=

Confinue on an extra sheet of paper.

In one minute | can ...

What you need:
— Use the 10 and 100s dice.
— Piece of paper.

68 18 17 I

What to do:
— Roll a 10s dice and then the 100s dice.

— Divide the bigger number by the smaller number.
Write down the division sum with the answer.

— Repeat doing this until your teacher says stop.

— Give your division sum to your partner to mark.

— The winner is the person with the most correct division
sums.




Number sentences

How fast can you calculate the following?

4+2 = @ 1+7 = @ 7+5 = @ 6+5 = @
3+6= \’f} 3+2= @ 8+6= Cz;’ 9+9= \/j?”
5+4 = @ 1+9 = @ 9+4 = @ 8+7 = @
2+8= (iz; 2+4= (iz; 7+7= (iz;

1. Write addition sums for the following: We have done the first example for you.
3 5
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2. What is the value of the in each of these?

o.7+2=@+7 b.3+9=@+3
Pattern fun

C. 8+4=4+C’7 d. 6+5=5+® How fast can you get the

answers?

SRR B B B
3. What is the value of the 5 in each of these?
- Sl [ B B &
A~
a. 2x3= (") x2 b. 5x4=(_ /x5
: BE @D
c. 1x8=8x() d. 6x3=3x(
e. 7x () =9x7 f. C)x5=5x4 ....
4. Match column A with column B. . . . .
] HEEE
4x5 \5x4 .. ..
3+9 2+10
HEEE
S/ 9+3
6x4 5x7
9+4 8x4
7 X5 4x6
HEEE

4x8 2x3

Colour the cards

Use different
colours to colour 6+8 7+3 2x9 6x8 3X7
in those cards
that have the
same answer.

9x2 9+2 6+5 5+6 2+9

7X3 8x6 8+6 3+7 6-5
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Discuss the words “ratio” and “rate”.

Ratio Rate

The chicken cost
R50 per kg.

Written
as a
ratio

1. Answer the following questions.

a. How many peaches do you see?¢

b. How many bananas do you see?¢

c. What is the ratio of bananas to peaches?

d. Whatis the rafio of peaches to bananas?

. What is the ratio of the peaches to all the fruite

7 8 8 &4 | U 8 8 90 ¥ 98 98



a. How many pink flowers do you count?

b. How many yellow flowers do you count?

c. How many purple flowers do you count?

d. How many white flowers do you count?

e. What is the ratio of pink flowers to yellow flowerse

f. What is the ratio of yellow flowers to purple flowers?

g. What is the ratio of pink flowers to purple flowers?

h. What is the ratio of yellow flowers to white flowerse

I. What is the ratio of white flowers to pink flowers?e

U5 98 17 U6 9




Cheese
R40 R60
per kg per kg

Milk Ribbon
R10 R5
per litre per metre

Write out each statement above using the rate symbol. Then work out how much wiill
double that rate cost.

a. Cheese is R40/kg Double R40 = R40 x 2 = R80

Jg 9 2 8 4 8 6 ¥V 8 8 0 W 98 9 94 %



4. Cheese: R40/kg

a. How much will it cost me to buy 1 kg?

b. How much will it cost me to buy 2 kg2

c. How much will it cost me to buy 3 kg?

d. How much will it cost me to buy 4 kg?

e. How much will it cost me to buy half a kilogram?

5. If Simon is paid R9/hour to work at the market, how many hours must he work if he
wants to make R54?

Continue on an exfra sheet of paper.

—  Walk around a shop and find 3 items on which they write
Rand/cents per kilogram.

— Wirite down these examples and bring them to class.

XXVil
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Eractions

Look at the tables and use words such as half, quarter,
and eight.

QOD

Three circles of cardboard
have been cut up in
different ways and the
pieces from each circle put
on a table.

Look at each table and
discuss it in a group.

What will happen on each
table if you put the pieces
back together to form a
circle?

1. Look at the coloured-in circles. Write a division sum for each.

Revisien

. . Fraction that is o
Fraction circle Division sum
green

Colour the same
fraction on this
diagram

a.

PN

4 Is green.

1

S5
&
&
&
D
&
b
s>
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2. Look at this measuring tape and answer the questions.

a. What is one half of 24 m¢

13 14 15 16 17 18 19 20 21

We cansay 24 +2 =12.

10 11 12 13 14 15 16 17 18 19 20 21

b. Whatis one third of 24 m?

We can say 24 + =

2 13 14 15 16 17 18 19 20 21

We cansay 24 + =

10 11 12 13 14 15 16 17 18 19 20 21

d. What is one eighth of 24 m¢

We can say 24 +

3. Using Cut-out 4 as a guide, fill in whether each of these is <, > or =.

a. 1 1
2>4
d'l 1
3 6
9 1[ |1
7 6
o201
6 7
i, 7 2
8 3

N[

@[ Oolh NN o=

A c. 1
8 8
1 foo1
8 5
1 L
2 8
2 4
3 5

0. 5
1 7

See the fraction game in the next lesson.

10 17 9C & 2 7 22 75 38 26
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Look at the ruler. Describe it using cm, mm and intervals.

EFirac tion problems

e
An interval,
what is that?

i. 3litres
i. 3,5litres
iii. 2 litres

i. 3litres
i. 2,5 litres
ii. 2 litres

| |1|JIJI1I|‘|L|LILILI
mlnnm

6 08 02 0% 05

It is the
distance
between those
small lines.

1. How much orange juice is in each jug? Choose and circle the correct answer.

i. 4litres i. 2litres i. 3,5 litres
i. 2,5 litres i. 1,5litres i. 4litres
ii. 3,5 lifres iii. 2,5 litfres iii. 2,5 litres

2. How long is each line? Give your answer in millimeters and centimeters.

| |

| 1 | J | i | 5 |
m||||m||||||r|T|l|I|||ﬁﬁ|l|In|‘|“nlnlnn

ARIARE FRE

e b

'|1|T||||hm||||||Tm|||||;T:|||||||t|T||||||||T'|'||||||||E||I||m||l|nm|nlm-|i

a. Pink line

O

. Purple line
c. Greenline
d. Blue line

. Red line

1 4

il
il
mm cm
mm cm
mm cm
mm cm
mm cm

8 4 B

G vV 8 ¢
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3. There are eight children at my party. Make drawings to solve your questions.
a. Two cakes are shared equally between eight children. What part of a cake will
each child gete

W

ose
1S3
b. Each child gets one eighth of the lollipops. How many lollipops will each child
gete

c. How much juice will each child get if you share it equally between them.

Fraction fun at home

— With the help of an adulf find as many things as you can at home that are divided intfo equal
pieces. Name the object and say info how many pieces it is divided.

XXXI
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1. You and three of your friends collected all your old toys to sell to buy four sports
shirts. Each shirt costs R50.

&
S
g

a. Look above. This is what you sold on the first day. How much did you sell?

b. How much money do you need to buy all four shirtse

c. How many shirts can you buy with the money you made on the first day?

d. How much more do you need to sell to buy the four shirts?

v 9 2 8 4 8 6 UV 6 ¢ Y



2. After three days you sold everything. You kept a record of what you
were selling. Now you need to calculate everything.

d R15.00 We still need to sell worth of
a L
Y R17,00 toys to buy all the shirts. Calculate it
+R45, 00 here.
Second | sold:
@ We still need to sell worth of
day R25,00 - .
R35,00 toys to buy all the shirts. Calculate it
R 8 00 here.
+R22,00
Third | sold: Do we have enough money for 4 shirts?
Show it here.
day

Y - My wich .

— Write down what you really want to buy.

- How much does it cost?

— What can you do to get the money?

— o
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1000

About how many paper clips long is the pencil?
How did you find out? About 3 cm

900

800

1. A paper clip is about 3 centimetres long.
Use the paper clip as a measure to make these estimates. Check your
estimates by measuring to the nearest centimetre.

Estimate Measure

700

. Length of your thumb.

Term | — Week 3

600

. Width of your maths book.

. Length of a crayon.

d. Length of a pencil.

e. Length of an envelope.

400
one kilometre

f. Length of an eraser.

2. Use your centimetre ruler. Write the length of each object.

300

200

100

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
500

0

m

XXXV
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3. Look at the picture and complete the table.

Distance from: Metres (m) Centimetres (cm)

The merry—go-round to the ladder.

The ladder to the swing.

The swing to the seesaw.

The seesaw to the slide.

4. A fence was built around the playground. How long is the fence? Write your
answer in metres and centimetres.

10 m

How tall? How long?

- How tall are you? Which is the longest?
iy - How tall is your mother or caregiver? - One third of a metre or one quarter
. of a metre.
I — How tall is your teacher?
i

— How tall is your principal?

XXXV
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Ared and Perimeter

The area of a shape is the number of square units needed to cover the inside shape.

Square units I

The area is 10 square units.

1. Find the area of each shape and write your answers in square units.

Term | — Week 3

2. Draw the shape described.

a. A red square with an area of 1 square unit.

b. A green rectangle with an area of 4 square units.

c. Ayellow rectangle with 12 square units.

d. A blue rectangle with an area of 10 square units that is longer than it is wide.

9 2 8 4 8 B ¥ 6 © 90 %W 92 9 94 1§



3. Find the area of each shaded rectangle in square units. Be sure to count
the parts you cannot see.

d.

4. A counter top is covered with four rows of square tiles.
There are 9 tiles in a row. What is the area of the counter top in tiles? Make a
drawing to show your answer.

5. A counter top is covered with three rows of square tiles.
There are 8 tiles in each of the first two rows and 7 tiles in the third row. What is the
area of the counter top in tiles? Make a drawing to show your answer.

Tiling fun

— You are using these tiles
to tile the floor.

- How many tiles do you
need fo tile the floor on
the right?

XXXVii
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about one litre

1. Fill in the correct answer.

a. A cup holds

b. The orange juice carton holds
more than, less than, the same as

K

the orange juice carton.

more than, less than, the same as

c. The jug holds

the orange juice carton.

more than, less than, the same as

d. The jug holds

the cup.

XXXViii

v 9 2 8 4 8 6 ¥V B

more than, less than, the same as

e. The orange juice carton holds the jug.
more than, less than, the same as

¥
k=

%}

the cup. ﬁ

Work in groups. Get some large containers. Estimate which of them would hold

An orange
juice carton
holds 1 litre. |

This cup
holds
250 ml.

This jug
holds
500 ml.
.

2. Estimate whether the objects hold more than, less than or about the same as 1 litre.

W

N P

{

910



3. How many millliters are in:

One half a litre,

One fifth of a litre

* One quarter of a litre

4. Say how much each measuring jug holds?

LS JugA

800 m——~—

Jug D

900 ml

ml

———900ml

800 mb—y—

Which jug holds the most?
Which jug holds the least?
How much more does jug B have than jug E?
How much more does jug A have than jug B?

Which jug holds less than 500 ml?

1 Iitrc@ B /

ml

900 ml
800 m—7—

— 1 700ml

ml C.

ml

Find five things that hold less than | litre and five things that hold more than 1 litre at your home.

10 17 9C & 2 7 22 75 38 2682788288 - 30
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2. Name all the 2-D shapes. How many lines of symmetry does each shape
from 2a to 2e have? Draw the line on the shape and write the number
next to it.

a. 1

1. Say whether each 3-D object is a pyramid or a prism.

Triangle

d.

1 2 8 4 8 G ¥V & ©

()

b.

| L

S
@

O
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3. Choose the correct shapes to go with the correct prism/pyramid.

\' B &

a. Triangular b. Rectangular c. Cube d. Pentagonal
prism prism prism
i.
| ] L&
e. I;r?sﬁgonal f. TT?it;?lgi(lja{?n/ g. Sq:]aanrq?d
pyramid Py

Vi. Vii. Viii. [ iX.

Tessellate?

Can these shapes tessellate on their own?

‘ & -%‘
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What is mass? Look at the pictures below and discuss it.

Grams and kilograms
are metric units used
to measure how
‘ heavy objects are.

A paper clip weighs
about 1g.

A book weighs about 1 kg.

el
Use a benchmark to estimate the mass of these objects in grams or kilograms.

Check each object on a scale.

-

o

T |

1. Will you use grams or kilograms to weigh the following:

a. b. 4'-"!-- C.

2. Use the object on the left to estimate whether the object is heavier or
lighter than kilogram or gram.

a. Paper bag b. Shoes c. Aloaf of bread d. Pencils

e 4=

e. Scissors

f. Calculator

|
!
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3. Look at the scales and answer the questions.

a. Which objects weigh less than 700 g2

b. Which objects weigh between 500 g and 1 kg?

c. Which is the heaviest object?

d. What is the total mass of objects A and D?

e. What is the total mass of objects B and C?

B C

4. Look at the two containers.

Are they the same size? Do they weigh the same?

The winning bag

classroom and place them in his or her bag. Fill each bag until it
is estimated that it weighs about 1 kilogram.

— Select one class member to weigh each bag. The winner is the
learner whose bag weighs closest to 1 kilogram.

— You can repeat the activity by filling the bags with different
objects. bate:

— Each learner should gather assorted objects from around the .

xliii
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1. Sort the types of lunch liked by these grade 5 learners by completing the table.

Type of lunch Tally Frequency

Hamburger

Hotdog

Sandwich

2. Use the information in the table above to draw a pictograph and bar graph.

Pictograph Bar graph
20

18 —

16

14 —

12

10

Number of children

v 9 2 8 4 8 6 UV 6 ¢ Y




3. Answer the following questions from your bar graph:

a. How many children like hamburgers in this grade 5 class?

b. How many children like hotdogs in this grade 5 class?

c. How many children like sandwiches in this grade 5 class?

d. Which is the most popular lunch in this grade 5 class?

e. Which is the least popular lunch in this grade 5 class?

4. Write 3 headings: Certain to happen, Certain not to happen, Uncertain. Classify
each of the following under one of those headings:

— Snow in our town or place tomorrow.

— Hall in our town or place tomorrow.

— Sneeze with open eyes.

— Iwillbe a day older this time tfomorrow.

- A woman will be a president of South Africa one day.

— Our soccer team will win the league this year.

— Somewhere in the world someone is being born right now.
— Add one event of your own to each of the lists.

5. Your mother wants to sell lunches for Grade 5 at the tuck shop. What advice will
you give her? Write the answer in your answer book or on a seperate piece of

paper.

Who is lucky?

— Play in pairs.

— Use a coin again. Start the game by asking: “Who is lucky?”

— The first player will toss the coin ten fimes. Before tossing it he or
she must guess on which side the coin will land the most often. If
the player is correct the player will get 1 point.

— The second player does the same.
In pairs do this ten times. The player with the highest score is the
winner.
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How many cubes are there in total? Match the place value cards with the base ten

blocks.
O | ..

1. Count the cubes.




2. How many cubes are there in total?

O l . .

=N = =100 =1000

O
O
@@

continued @
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3. Add all the place value cards.

a.

4. Calculate the following:

d.

e.

How quick are you?

What you need: What to do:
Cut-out 1. - Play in pairs.

U5 918 17 96 98 2 %= 22 726 28 26027281 - 30

1000+ 100+ 100+100+10+10 +1+1=

1000+ 1000 +100+100+100+100+10+10+1+1+1+1+1=

1000+100+1000+100+10+100+1+1=

1000+1+100+10+1000+10+100+100+1=

10 + 10 + 100 + 100 + 1 000 + 10 + 1 + 100 + 1 000 =

— You choose five cards and your partner chooses five.

— See who can give the fotfal the quickest.

— Add 1000 to your answer.

— Check your partner’s answer.

— Do the same with 6/7/8/9/10 cards. Remember to add a 1 000.
— The person with the most correct answers is the winner.

33

P

I]]I - I]]I - — Cut out the cards from the back of your books.
ShE SR — Place them face down on your desk.
£ 3
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" Numbers O to 10 000
y =

What number will these cards make?

Fooa]
I
2 0]

=) 528
mgzs |

P; Five thousand six hundred
and twenty-eight.

8

Use Cut—out 2 to show five different numbers.

1. Complete the following:

a. 8000+400+30+2=

b. 3000+800+50+1=

c. 1000+200+80+7=

d. 4000+ 900 + 3 =

e. 7000+7= @
2. Write the number in the correct column:

a. | 3487 3 4 8 7
b. (4204
c. |6003
d. [8710
e. |6080

3. You need some coloured pencils to complete this question. Complete the following
using the first question to guide you.
a. 8 183 = 8 thousands + 1 hundred + 8 tens +

b. 6325 =

C. 5555 =

d. 2806 =

. 6005 =

W 9 2 8 4 B B vV 8 ¢ 90 W 98 98 96 Uk



4. Complete the table below:

Expanded notation Words
a. |6578
b. [3254
c. |5504
d. |9540
e. (8003

5. What is the value of the underlined digit?

6.

a. 6214

b. 5891

c. 5004

d. 1240

e. 8040

What will you do to change the number?

a. 4 824 —400 4424
b. 3154 154
C. 2 054 2 004
d. 3879 3070
e. 5571 5000

Find the number.

What to do:

— Bring a newspaper to class.
— Find five 4-digit numbers. Write them down.

— Share with the class what each number means.

A 7x 22

What you need:
- A newspaper
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:} Moere numbers 0 to 10 000
y 44

Look at these Egyptian numbers. Make any 5-digit number using the Egyptian
numbers.

Units I 0 M

tens n hundreds e thousands I

1. Complete the table below:

Egyptian number Number Expanded notation

e|lejeje/mnjn|l 1431 1000+400+30+1

=]
o |
o |
o |
e |

!
]

@

@

@
P
P

TERARFDRE

2. Arrange the numbers from the smallest to the biggest.

a. 6 923, 6 239, 6 329, 6 223, 6 326 | |
3210, 3201, 3012,3021, 3011 | |
7776,7 767,7677,7 676, 7 656 | |
8 008, 8 080, 8 808, 8 800, 8 000 | |
3555, 5335, 5533, 5535, 3535 | |

© 20T

. Fillin < or >.

greater than
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4. What is the value of the 7 in all the numbers?

a27eal |
d7s9 L |

5. Complete the following:

b. Use each digit once, make the largest 4-digit number: | |
c. You can use a digit twice, make the smallest 4-digit number: | |

d. You can use a digit twice, make the largest 4-digit number: | |

6. Complete the following:

the total?

b 7582 |
e 3752 L |

51 108 WA I

a. Use each digit once, make the smallest 4-digit number: | |

You tossed some stones on a game board. This
was your result. If you add the numbers, what is

2 5oy I~

Who can get the largest number?

What you need:
— The game board on the right.

Small stones.

What to do:

U5 98 17 16 98 2 26 22 78

Toss your stone on the board.

Write down the number it landed on.
Do this ten times.

Add the numbers.

The winner in a group is the person with
the highest score.
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Replace

4+6=

23+ 7=

430 + 70 =

430 + 270 =

15 +5= | 52

59 +368 = | 427

87 +62= | 149

or

or

or

a.22+35=35+

b. +8=

with a number

O

5+5=

24+ 6 =

440 + 60 =

440 + 260 =

1. Calculate the following.

37+15=

368 + 59 =

62 + 87 =

+9

C.99+89=89 +

d. +75=

e. 375+ 283 =283 +

+ 76

Example: Commutative property of addition.

52

427

149

" Number sentences

8+2=

22 + 8 =

420 x 880 =

420 + 280 =

f. 389 + 742 =

3+7=

25+5=

450 + 50 =

450 + 250 =

0 98 % 96 1




Example: Associative property of addition.

G+4)+6=| 15 isthesame as5 + (4 +6) =| 15

(35+28)+17=| 80 is the same as 35 + (28 + 17) =

80

99+ (7+45)=| 151 | isthesame as (99 +7) + 45 =| 151

2. Calculate the following.

a.b+7)+8= + (7 +8) b.8+7)+6=8+( + 6)
cC.9+(1+4)=( + ) +4 d.(3+8)+7= +(8+7)
e.(12+13)+11=12+( +11) f.20+(3+8) =( + )=

Solve the problems.

A man buys cell phones for all his stores. He buys 6 789 black phones, 1 567 brown cell phones and
4 532 red cell phones. How many cell phones did he buy altogether?

a. What is the question?

b. What are the numbers?2

c. What basic operation/s (+, -, x, ) will you use?

d. Write down the number sentence?

e. Do your calculation.
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' " More number

sentences

»

Write number sentences using +, - and =. Each number sentence should
include a 1 or a 0. What do you notice when you calculate it?

‘ o J(= )L+ (I )

()L I ()

) (L

) (I
1. Complete the following.
a.10=5+ , 10-5= b.10=7+ , 10 - =3
c.10=4+ , 10-4= d.10=6+ , 10 - =4
e.10=2+ , 10-2= f. 10= 9+ , 10 - =1
2. Complete the following. ®
a. 100 =50 + , 100-50= b. 100 =70 + , 100 - = 30
Cc.100 =40 + , 100-40= d. 100 =60 + , 100 - = 40
e. 100 = 20 + , 100-20= f. 100=90 + , 100 - = 10
3. Complete the following.
a. 1000 =500 + , 1000-500= b. 1000 = 700 + , 1000 - = 300
c. 1 000 =400 + , 1000 -400= d. 1 000 = 600 + , 1000 - = 400
e. 1000 =200 + , 1000 -200 = f. 1000 =900 + , 1000 - = 100
4. Complete the following.
a. 100 =57 + , 100-57 = b.100=72 + , 100 - = 28
c.100=43 + , 100-43= d. 100 =69 + , 100 - = 31

.100 =25+ , 100-25= . 100 =91 +

W 9 2 8 4 G ) 90 W 92



5. What pattern did you notice?

6. Say if the following is true or false.

a.6+5=5+6 b.9+6=6-9 c.12-4=4-12

d.15-9=9+15 e.8+7=7-8 f.20-10=10-20

7. Solve the problem.

The price for a container of wheat is R8 231. Since some of the wheat is spoiled, the
price is decreased by R3 789. What price does a shop owner pay for the container of
wheat? (You will need some extra paper to do this activity.)

a. What is the question?

b. What are the numbers2

c. What basic operation (+, -, x, +) will you use?2

d. Write down the number sentence?

e. Do your calculation.

Here is one combination that will give you 20. How many more combinations can you come up with?




'>5a f‘ Addition up fo U-digit numbers

S

What is the difference between the numbers in each of these rows?

100

200

300

400

500

600

700

800

900

1 000

101

201

301

401

501

601

701

801

901

1001

a. 30, 40, 50,

b. 600, 700, 800,

1. What number comes next?

C. 2545, 3545, 4 545,

d. 2605, 2 705, 2 805,

e. 5484, 6 484, 7 484,

f. 1610, 1 710, 1 810,

2. Complete the table by adding to the given number in the first column.

i

12

A7
LI,




3. Fill in the missing number:

a. 8+ =10

b. 15+ =20

c. 80 + =100

d 72+ =100

e. 150 + =200

f. 332+ =350

g. 325+ =400

h. 1750 + =2 000

i. 3220+ = 3500
® j. 5440 + =6 000

4. Complete the table by filling in the missing numbers.

Complete up to the next | Complete up to the next | Complete up to the next
10. 100. 1 000.

a 457 | o0, 3 | 460 457 + = 500




YV‘{» y o
6b Addition up to U-digit numbers continued

Examples: Example 2:
Example 1: 5> 6 3 7
5 637+ 2 358 LA i’ 85 e
= 5000+2000+600+300+30+50+7+8 8 0 (3(§+50;
i 7 000 + 900 + 80 + 15 9 0 0 (600 + 300)
= 7000 +900+90+5 7 9 9 5
= 7995
5. Use both methods above to calculate the following.
a. 3268+1211= b. 5455 + 3540 =

&
S
g

Continue on an extra sheet of paper.

C. 4765+3219= d. 7214+1397=

Continue on an extra sheet of paper.

e. 6984 + 659 = f. 8647 + 768 =

Continue on an extra sheet of paper.

1081198128813




6. Of all the methods of addition which you’ve learnt so
far, which one do you like the most and why? Write an example of
your favourite method here.

Continue on an extra sheet of paper.

What is the size of your number?

What you need: What to do:
— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice made — Roll the green 10s dice.
before. — Add the number landed on, to the first number on
—  Piece of paper. the blue card. Write your addition sum on a piece of
paper.

— Do the same with the 2nd to the 5th number.

— Repeat the activity with the 100 s and 1 000s dice.

— Learners check each others’ addition sums.

— The winner is the person with the most correct answers.




How fast can you answer these?

e Add 2000+ 1000 + 300 + 50 + 8 +2.

e Whatis the sum of 5 000 and 2 000? How did the
. blue words
¢ How much is 6 000 and 300 altogether? help you?

* What three numbers have a total of 500? _r

e Add 37 and 12.
e Whatis the sum of 200 and 362

* How much is 95 and 25 altogether? What word
. will help you
* Which three numbers have a total of 100? to choose the

operation?

1. Solve the following problems. The pictures may guide you. Also use the blue
word.
a. Shop A sells 570 cans of cold drink. Shop B sells 320 cans of cold drink. How
many cans of cold drink do both shops sell altogether.

Shop A

500 + 300 + 70 +

Try to form l

a picture in

= your mind.

These are the
number of

cans.

v 9 2 8 4 8 6 UV 6 ¢ Y



b. My uncle, a truck driver, travelled 1 475 km in early January.
He then fravelled 276 km more. How far did he fravel in January?¢

i. What picture do you see when you think about this problem? Draw it.

, S

ii. What operation should you use?

ii. Solve the problem. Write it down in your writing book.

Confinue on an extra sheet of paper.

c. Jabu collects 2 389 bottle caps. Sindi collects 3 983 bottle caps. How
many bottle caps did they collect altogether?

Continue on an exira sheet of paper.

continued @




Continue on an exfra sheet of paper.

O
S
£
c
(0)
(©)
V)
IS
1Y
Q
o
S
o
c
9
=
B
B
<

<%
10
=

>

2. Look at the pictures below and write an interesting addition word sum.

y.




3. Write an appropriate and interesting addition sum for: 6 594 and 3 485. So

ar]

Confinue on an extra sheet of paper.

Story sums

Write three of your own maths stories, rhymes or poems. Remember they should include numbers.
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8a )Sub‘rrdc‘rion from u-digit numbers
ﬁ’

What is the difference between the numbers?

10 20 30 40 50 60 70 80 90 100

3 1003 | 2003 | 3003 | 4003 | 5003 | 6003 | 7003 | 8003 | 92003

1. What number comes next?

a. 80, 70, 60,

b. 200, 800, 700,

c. 787,687,587,

d. 2365, 2355, 2 345,

e. 9451,8 451, 7 451,

f. 7545, 6 545, 5 545,

2. Complete the table by subtracting from the given number:

Number Subtract 1 Subtract 10 Subtract 100 Subtract 1 000

5132

1874

8412

4 657

3528

2 8 4 8 B ¥V B ¢ 9 W 9 9 94 -



3. Fill in the missing number:

a. 3—|;|=0

b. 15-—J=10

C. 37—|;|=30

d. 51-— =50

e. 116 -—— =100

f. 150 -— =120

g. 568 - —— =500

h. 984 - — =800

i 1952-L— 1= 1500
i. 9407 - ——=5000

4. Complete the table by filling in the missing numbers.

Complete up to the
previous 10

Complete up to the
previous 100.

a. |48 48—|;:4O

Complete up to the
previous 1 000.

b. |325 325—Q= 320 325—|;= 300

c. |5583 553—Q= 550 553—|;= 500

d. | 1689 1689—|;=168O 1689—|;=1600 1689—|;=1000
e. 6584 6584—|;= 6584—|;: 6584—|;:




S

"»8 b f‘ Subiraction from u-digit numbers

continyed

Examples: Example 2:

Example 1: 4 3 2 8

4328-3145 - 31 4 g -
= (4000 - 3 000) + (300 — 100) + (20 — 40) + (8 - 5) .0 (125—_40;
= (4000-3000) + (200~ 100) + (120 40) + (8- 5) oo 200100
- 1009+ 100+80+3 + 1.0 00 (4000-3000)
= 1183 —

5. Use both methods to solve the problem.
a. 3812-2708 b. 5684-2419

Confinue on an exira sheet of paper.

c. 8148-2077 d. 2632-1284 @

Confinue on an exifra sheet of paper.

e. 9657 -3489 f. 7210-4144

Confinue on an exfra sheet of paper.

g. What method do you prefere Why?

Continue on an exira sheet of paper.

1081198128813



Examples:

Example 1:

7 424 -1 888

(7000 -1 000) + (400 — 800) + (20 - 80) + (4-8)
(7000 — 1 000) + (400 —800) + (10-80) + (14 -38)
(7000 -1 000) + (300 —-800) + (110—-80) + (14 -38)
= (6 000-1000) + (1 300-800) + (110-80) + (14 -8)
5000 + 500 + 30 + 6

5536

6. Use both methods to solve the problem.
a. 3767 —-2459

Example

4
‘i‘
2:
7 4 2 4
— 1] 8 8 8
6 (14 -28)
3 0 (110 -280)
5 00 (1 300 - 800)
i3 5 0 0 0 (6000-1000)
5 5 3 6
b. 8715-4108

Confinue on an extra sheet of paper.

C. 6449 -5655

d. 9 564 -6 295

Continue on an extra sheet of paper.

& 79 =2

f. 5222 -4 653

Confinue on an extra sheet of paper.

g. What method do you prefere Why?

Continue on an extra sheet of paper.

What you need: What to do:
— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice you made - Roll the 10s dice.
before. — Subfract the number landed on from the first number

— Piece of paper. e e

What is the size of your number?

on the blue card. Write your subfraction sum on a

Do the same with the 2nd to the 5th number.

Repeat the activity with the 100s and 1 000s dice.
Learners check each others’ subtraction sums.

The winner is the person with the most correct answers.




' O9a " Subitraction problems
o

How fast can you answer these?

Subtract 40 000 from 80 000.

What is the difference between 7 800 and 5 4002
Minus 920 000 and 55.

Decrease 100 000 by 10 000.

Subtract 450 from 19 000.

Reduce 50 000 by 1 000.

Take 15 000 from 45 000.

Take away 25 000 from 100 000.

1. Solve the following problems. The pictures may guide you. Also look at the
blue word.
a. Veronica has 780 postage stamps in her collection.

Lindiwe has 410 fewer stamps. How many stamps does Lindiwe have?

ASBARAAEAR ASBARAABAR ASBIARAARAE AABARAAEA
DEsRslEals DieRalEals DR alEc®s DEeBslEs)s

:.IIH: :ullﬂ.: :.'-IIH: .:ullﬂ.: E'-'IIH: :ullﬂ.:
ASBARAABAE ASBIRLAABIE ASBIABAAEIE
CEpzRalazPs DEzEalasPs DEzEalaxks
ﬁIl!‘t :ullt: ﬁIl!‘t :ﬁll"t: ﬁIl!t :ullt:
ASBARASEAE ASBARAAEAE ASBIARAAERAE

DEsRalaEEas DExRalasBEs DEsBEala=Eas llﬂllll

n!ln:u!lt: n!ln:s!le: n!ln:u!lt: ln;ulle*

ASBARAGEAE ASBARAABAE ALBARAAEAR ALSBARAAEAR

ASBARAAED ASBARAAED ASBARAAED AKBARASEAR

OE=REslEs l ﬂllllﬂl. l OExREslEe)Ys DEsRslEailas

: wEBRCcHE=:

EBARAAEAE

DExRalazikas

ﬁlln;uiln:

ASBIARAARAE

BEala=Ea Eala=Ea EslExRa BprisBanie—
In;u!lt; In;s!lt: In;s!lt;
ABEARAABAR ABARAAEAE ALBARAAEAE

780 -410

2 9 4 B G 7 8 0 9 KW 9 % 94 %



b. James is selling stamps. He sold 4 387 on Monday. By the end of

Tuesday he had sold 8 000 stamps. How many stamps did he sell on Tuesday?

i. What picture do you see when you think about this problem? Draw it.

Confinue on an exira sheet of paper.

i. What operation should you use?

Continue on an extfra sheet of paper.

ii. Solve the problem. Write it down in your workbook.

Continue on an extra sheet of paper.

continued @
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'>9b f‘ Subiraction Problems continued

c. My aunt makes jewellery. She buys 9 525 beads. She uses 4 250 to make some
jewellery. How many beads does she have lefte

Continue on an extfra sheet of paper.

2. Look at the pictures below of soccer balls and tennis balls and write an interesting

BH R W O T TR W O
okl Ll ki i b L ey

- ] _'I-_Iu.'l.ln_'l-_l i 4
. ARERED AERRe
e a ah e ) vevesTrTEY . evvesvewew

S ohd mad o e ke S o S T sreveveeRy ML L LI IIEE
CETEEEEEET CTETETEETET
g gl SILiieIe e I3lITIIETE
=R T CYTTTEVETE MITII I L
e e . CECTEEETENE | CECETETEEE
ST eerest )’ weveseTeRT
vovwewee FETEECTECET TEEECTETEY
FYTIPTETEE TTTITTETEE

Contfinue on an exira sheet of paper.

1081198128813



3. Write an appropriate and interesting word sum for: 45 879 and 38 238.
Solve it.

Continue on an extra sheet of paper.

At the party — Make up your own story

fereretet EEE |

LB/ 9 9 9 S
S
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10a p¥Addition and Subtraction problems up

> torS:digit numbers

How fast can you answer these?
Add 6 000 and 800. .
Subtract 600 from 4 000.
9 000 plus 330 s ...
The sum of 2 500 and 5500 is ...
Take 3 000 from 7 000.
Decrease 5 500 by 2 300.

Increase 1500 by 2 800.
1 250 and 4 250 are ...

1. Complete the table below.

Add 300 Subtract 600 Add 4 000 Subtract 3 000

3 500

6 200 @

5820

4 650

5999

2. Answer the following questions:

a. What is the opposite of 4+ ?

b. What is the opposite of — ?

)9 2 8 4 7 8 O 90 % 98 @ 96 9



3. Calculate the following.
Q. 7544+ 1378 = . 4245+ 1996 =

Confinue on an extra sheet of paper.

Cc. 8678-3482= d. 3124-1657=

Continue on an exira sheet of paper.

4. Check your answers for each of the above calculations, using the opposite
operation.

Confinue on an extra sheet of paper.

continued @




106 R¥Addition and Subtraction problems up
‘! b 10'5:digit numbers continzed

5. Solve the following problems:

a. Suzy and her brothers were counting animals and birds at the zoo. Suzy

counted 234 animals and her brother Thabo counted 1 004 birds. Their
younger brother Andile counted 538 animals.

i. How many animals and birds were counted in all?

i. The guide told them that they could
expect to see 2 000 animals and birds.
How many animals and birds did they
not see?

b. A book store had 1 250 books. They
bought another 1 200 books. Then they
had a sale and sold 1625 books.

i. How many books were on the shelves
when the sale started?

Confinue on an extra sheet of paper.

W 9 2 8 4 B B ¥V 6 8 90 9 9 198 94 8



i. How many books were left on the shelves after the sale?

Continue on an exira sheet of paper.

iii. If the book store sells another 500 books, how many books will be lefte

Continue on an extra sheet of paper.

Coloured numbers

What to do:
— Play in pairs.

— The first player will say: “Add red
numbers”. Then the second player can
take any two red numbers and add them.
If the player is correct, he or she will get
one point.

— The second player will say: “Subtract
yellow numbers”. Then the first player
makes a subtraction sum with any two
yellow numbers.

— Carry on playing. The first person with a
score of 10 is the winner.




How fast can you fill in the missing numbers?

[EEN

2

3

4

5

10

3

4

5

10

6

8

12 | 14

16

18

20

9

12

15

18 | 21

24

27

30

12

16

20

24128

32

36

40

10 | 15

25

30 (35

40

45

50

12| 18

24

30

36 | 42

60

14|21

28

35

42 | 49

56

63

70

40

48 | 56

64

12

80

V| oo™ |WIN|F]| X

NN |jovn(fOlT R [WIN|PF

18 | 27

36

45

54

90

[N
o

[N
o

20 | 30

40

50

60 | 70

80

90

100

12

14

16

18

20

12

144

168

192

216 | 240

14

168

196

224

252 | 280

16

192

224

256

288 | 320

18

216

252

288

324 | 360

1. Use the table below to find the answers.

a.16x 18 =

P.18x 18 =

c.16x12=

d.20x20 =

e.l4x16=

J 9 2 8 4 B G ¥V 8

g

10

W 98 9& 94 U6




2. Complete the tables below as in the example.

Example:
Using tables is a useful way to record patterns.
Input

Rue| x6 | 6 | 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 40

Output
a.
b.
®

C.
d.

x 5 20 40
e.

x 10

Input and output values

a. My rule is x 8. My input values are 1 to 10. What will the 15th output value be?

b. My ruleis x 10. My input values are 11 to 20. What will the 20th output value be?

15 980 17 UC 98 H) 7H 22 7% 28 28



shop?

Explain what happened
to the paint at the paint

1. Complete the flow diagrams.

Example 1:
Input Output
1 Rule 7
3 21
5 35
7 49
9 63
a.
2 | |
4
;
8
10

Example 2:

Input Output
1 5
s o e
5 [ x4 =] +1 5

]
1]
3
| +6 [~ 5
7
9
d.
] ]
201
4 .
x 8 3> 59
6 |
10
27

8

08111

¥ 98 94 4




147

2. Create your own flow diagrams.

a. b.
Input

-

JUUUUS

S\ % = B
O O H
) ) ) )

Inputs, rules and outputs

a. My ruleis x5+ 2. My input values are 2, 3, 4, 5 and 6. What are my output values?

b. My ruleis x4 x5. My input values are 6, 7,8, 9, 10 and 11. What are my output values?

U8 918 17 9 & 20 72X 22 75 28 28 25 7/ 25 8@



Number Patterns

Quick recall: How fast can you answer the following?

1+4= 1x5= 1x4= 4+5= 4x8 = 3+4=
4XT= 4+6= 1+5= 6+5= 4+9= 4x9=
3x5= 4x5= 3x4= 5x5= 8+5= 4x4=
4+8= 6x5= 9x5= 2+4= 4X6= 4+7=
7+5= 4+4= 3+5= 2x5= 2x4= 2+5=

1. Extend the following patterns.

a. 25, 30, 35,

b. 25, 50, 75,

c. 110, 120, 130,

d. 99, 94, 89,

e. 177,167,157,

f. 31, 56, 81,

g. 747,757,767,

h. 351, 362, 373,

i. 2100, 2200, 2 300,

j. 10000, 9 993, 9 986,

2. Complete the flow diagram.
Input Rule Output Input Rule Output Input Rule Output

‘l}_

e
& @

e 90 W 92 198 94 K

-
° o0
-
a



. ldentify the rule in each case.

a.21, 26, 31

.26, 51,76

c. 125,150, 175

d.1011,1021, 1031

e.2061,2066,2071

4. Patterns are shown here. Explain each one in words.

213|4|5(6|7|8]9 <:>

314|5|6|7|8

2
(4)| 6|8 |10]|12] 14|16
6
8

(9)|12] 15 | 1821 24
12 |(16)| 20 | 24 28 | 32
10 [ 15| 20 |25) 30| 35 | 40
12|18 | 24| 30 |(36) 42 | 48
14|21 28 | 35 | 42|(49)] 56
A6 2432140 48|56 |64 72| | /\

18 27|36 | 45|54 | 63|72

CI)\IO\U'I-POOI\)@H

NN |0 (N[O DWW IN |

Patterns everywhere

Look at the patterns on the board. Describe each one in your own words.

11|12
21|22
3132
41| 42
51|52
61|62
71|72

51|52
61|62
7172
82

81
Bl 52

83 85
91192]93 (94|95

97198




More number patterns

y

What is a pattern? Look at the examples to guide you.

o/a NI

1. Which of these are patterns? Answer with reference to what you said a pattern is.

12 |3|4|5]6|7|8]9]10
111213 |14|15]16|17 18|19 |20 12, 24, 36, 28,
21|22|23|24|25|26|27|28]|29 |30
31|32|33|34|35|36|37|38|39 |40
41| 42| 43| 44 | 45| 46| 47 | 48 | 49 | 50
51|52 (53|54 |55|56|57|58]|59 |60
61 (62|63 64|65|66|67]|68|69|70
71|72|73|74|75|76|77|78|79 |80
81|82|83|84|85|86|87|88|89|9
91192]93|94|95|96|97|98|99|100

(L)

a. 12,24, 36, 48, ... b. 9,3, 11,

s - NI

2. Complete the pattern on the circle. We have started it for you.

205 a. Describe the pattern.

U0 9 Y 98 94 9



F

3. Make two of your own patterns.
pattern in question 2.

a. b.

They should be similar to the

c. Describe the patterns above.

4. What is the next number?

a. 2,3,5,8, . 100, 81, 64,

c. 1,4,9,16, 25, d. 3,9, 81,

Pattern fun ...

What will the next five rows in this pattern be?2 1

1+2+1
14+2+3+2+1
1+2+3+4+3+2+1
1+2+3+4+5+4+3+2+1
142+3+4+5+6+5+4+3+2+1

U8 918 17 9 & 20 72X 22 75 28 28 25 7/ 25 8@
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15a R¥=Multiplic ation: |-digit by 2-digits
»

Give the total of the numbers in each shape. Use multiplication.

~
0@
&

S
P d
@

&

Q

7 7 7
7 7

1. How fast can you complete this grid?

0 92 90 98 &




2. Describe the pattern shaded in yellow on the previous page.

Continue on an extra sheet of paper.

3. Complete the flow diagrams.

Input Rule Output Input Rule Output Input

Rule Output



S
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150 ‘ Mulliplic ation: |-digit by 2-digits continued

d. Draw similar flow diagrams multiplying by 8 and one multiplying by 6.

Continue on an extra sheet of paper.

4. The example below will help you to complete the other tables.

Multiples of 3

3x1 3x2 3x3 3x4 3x5 3x6
vV 9 9 vV € 9
3 6 9 12 15 18

The multiples of 3 are 3, 6, 9, 12, 15, 18,

17 2 8 4



Competition time

Multiples of 4

4x1

4x2

4x3

4

4

4

4

The multiples of 4 are 4, 8, 12,

Multiples of 5

4

4

4

A4

The multiples of 5 are

What you need:

Coloured pencils.

What to do:

Mark in the multiples as fast as you can:

Multiples of 5 in red.
Multiples of 6 in blue.

Multiples of 10 in green.
Multiples of 3 in purple.

Multiples of 12 in

Check your answers:

You should have:
12 red circles

6 blue circles

6 green circles
13 purple circles

4 yellow circles




S

"
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16a RF-Mulliplic ation: 2-digits by |-digit, 2-digits

Give the total of the numbers in each shape. Use multiplication.

rectangle

1. Find the multiples.
a.

Multiples of 10

10x 1 10x 2 10x 3 10x 4 10x5 10x 6
vV 9 9 vV € 9
10 20 30 40 50 60

The multiples of 10 are

.
vy 9 9 9 v @9

The multiples of 100 are

c
vV 9 9 9 9 9

The multiples of 1000 are

J9 2 9 4 7 8 O 90 W 98 9% 916 %




2. Use both methods to calculate the multiplication sums. Write the steps.

Examples: Example 2:
Example 1:

43X 7 X
= (40+3)x7
(40x7)+(3x7)
280 + 21

= 301

(B3x7)
(40x7)

Il

w [N
oo N
Rlo k|~ w

a.16x3 = b. 24x4 =

Continue on an extra sheet of paper.

c.30x6 = d. 54x7 =

Continue on an extra sheet of paper.

e.79x9 =

Continue on an extra sheet of paper.

continued @

15 18 17
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15[," Multiplic ation: 2-digits by | digit, 2-digits "=
by Q‘digﬁs continued

3. Use both methods to calculate the multiplication sums. Write the steps down.

Examples:
Example 1: Example 2:
23 x14 = 2 3
(20 + 3) x (10 + 4) X 14
=(20x10) + (3x10) + (20x 4) + (3x 4) 12 (Bx4)
= 200 + 30 + 80 + 12 8 0 (20 x 4)
= 200 + 100 +10 + 10 + 2 30 (3x10)
= 300+20+2 + 200 (20X10)
= 322 322
a.l0x 13 = b. 15x 15 = C. 18 x 21 =
Continue on an extra sheet of paper. @
d. 23x24 = e. 36 x28= f. 45x 29 =

Continue on an extra sheet of paper.

9. 47 x37 = h. 54 x 69 =

Continue on an extra sheet of paper.

10 M 92 99 98 &



4. Solve the following:

My teacher bought 15 boxes of coloured pencils for R21 each and 15 colouring

books for R18 each. How much did she pay in total?

L

‘-II ] LI
1 1 1 1 1

lal‘i

L L LR L LR L
I 1 I I I

(T L L LRt L
I 1 I I I

111| LY
LI

What
picture do |

Continue on an extra sheet of paper.

-
>
o
>
o
©
47

&
2
o

I

How many dots do you count?

LR B
L & N
L & N
L & N
L & R
L X N
L L X
L X X |
L X K
L 1 R

*ee
aee
*ee
aeee
aee
aee
eee
LE 2
e
eoee

- e
L X 3
- 8w
L 4 B
L 2 R
L X R
a9 e
o e e
L X K
L A B

e 28w
*9® aw
S Saw
Se® S8W
*e® oW
*e® 8w
e 288
B Ee S8
Ll X B
[ I X I

ase B0
aee e
s 299
see o9
tee e
See e
sSans o0
ses o0
san o0
See o0

SBEae 09
BEas a9
aEan 89
Bae 09
ase 09
sSaes o9
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17a ‘ Multiplic ation: 2-digits by 2-digits and
y 4 3rdigits by 2-digits

Give the total of the numbers in each shape. You should make use of multiplication.
hexagon

500
500

500 500

parallelogram

500 500 50
500  cg0

500

1. Complete the table below.

Number x 10 x 20 x 30 X 40 X 50 X 60 X 70 X 80 X 90

10

15

20

25

50

2. These are multiples of (extend the pattern).

a. 30: 300, 330, 360, 390,

b. 25: 125, 150, 175, 200,

c. 50: 350, 400, 450, 500,

d. 100: 1000, 1 100, 1 200, 1 300,

. 150: 1500, 1 650, 1 800, 1 950,




3. Use both methods to solve the sums.

Examples:

Example 1:

19 x 23

(10 +9) x (20 + 3)

(10x20) +(9x20) +(10x3) +(9x3)
200 + 180 + 30 + 27

200+ 100 +80+30+ 20 + 7
= 300+ 130+ 7

300+ 100+30+7

= 400+30+7

= 437

a.12x19 =

Example 2:

(9x3)
(10 x 3)
(9 x 20)

(10 x 20)

WO 0 W NN -
~NIO O O Nlw ©

2
AN -

b.14x21 =

Continue on an extra sheet of paper.

C.17x24 =

d. 19x 27 =

Continue on an extra sheet of paper.

e.23x38=

Continue on an extra sheet of paper.

continued &
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170 ‘ Multiplic ation: 2-digits by 2-digits and
3‘digﬁ'5 b\/ Q-digi‘rs c onitinued

4. Use the method below to solve the multiplication sums.

Examples:

Example 1:

45 x 62

= (40 +5) x (60 + 2)

(40x 60) + (5x60) + (40x 2) + (5x2)
2400 + 300 + 80 + 10

2 000 + 400 + 300 + 80 + 10

2 000 + 700 + 90

2790
a.28x43 = b.39x48 =
Continue on an extra sheet of paper.
C.46 x 57 = d. 67x72=
Continue on an extra sheet of paper.
e.84x93=
Continue on an extra sheet of paper.

1081198128813



5. Solve the problem.
a.They say an apple a day keeps the doctor away. | have had one apple per day
for the last 18 months. Approximately how many apples did | eat?

Continue on an extra sheet of paper.

How fast are you?

What to do:

— The aimis to see
how fast you can fill
in the answers in the
white rectangles.

— Multiply each
number on the
circle by the same
colour rectangles to
get your answer.

20
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1831) Grouping and sharing problems

»

Thinking in groups:
We have 18 apples.
Can you move 1 apple to make 3 equal groups?

*ee @@ eeee
L X *ee ee@

1. How many objects do you need to move to make 3 equal groups? Complete the
following using the example given.

a. 7+8+9=24 b. 12+13+14 =
i. Addition sum: i. Addition sum:
5 4P (2 =P @) = 24
ii. Multiplication sum:
8x3=24 ii. Multiplication sum:
5] = @ 1
Cc. 97 +98+99 = d. 2000 + 3000 + 4 000 =

i. Addition sum: _

ii. Multiplication sum: _

i. Addition sum:

ii. Multiplication sum:

2 9 4 B G 7 8 0 9 KW 9 % 94 %



2. What can you do to each group of numbers to make them equal? Write

down three sums to show what you did.

. 3,4,5 ii. 20, 30, 40

a.

b.

3+1=4 -

4+0=4 b.

4,6,8 v. 40, 50, 60

ii. 80,90, 100 viii. 700, 800, 900

3. Break this block into 3 equal parts.

Now write an addition sum:

. Now write a multiplication sum:

lii. 600, 700, 800

i. 100, 200, 300

iX. 4000, 5000, 6 000
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18b ‘Grouping and sharing problems continued g
3

What does it mean to share? How fast can you share the oranges between the

children? 23332323329
233923222539
DADIIDIDIIDD
DAIDIIIIDIDD
239923232332

232233322
23232232233
3332333239339
233223322
23322322222

1. Use the number I|ne to answer the questions.

12 ..: ik B BRIRIRREEY  ERILITIEEE
E;E
]

0 100 200 300 400 500 600 700 800

i. How many groups of a hundred do you count?

ii. You can write it as: X

iii. If I share 800 by 8, what will | gete
o I/\I/\I/\I/\I/\I/\I/—\(I/—\I/—\I/—\I/—\(I/—\I
| | | | | | | | | | | | |

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

i. How many groups of a thousand do you count?

i. You can write it as: X

jii. If I'share 12 000 by 1 000, what will | gete

C'||||$||||$

|
! ! ! ! ! ! ! ! ! ! ! ! !
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

i. How many groups of six thousand do you count?

i. You can write it as: X

If I share 8000 by 8, what will | gete

1 2 8 4 B 7 8 O 9 9 8 8 1B %




2. Use the number lines to show the following:
a. Share 12 000 between 6.

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

b. Share 12 000 between 4.

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

c. Share 12 000 between 3.

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

3. Which of these fruits could | share equally?

Number Shared between Each get Remainder
®

2 000 apples 10 200 0

2 800 oranges 100

3 700 bananas 100

5 250 naartjies 10

9 487 pears 100

continued &



Look at the picture.
You have offered to
help the teacher to
re-arrange the books
on the shelves. She
only wants 25 books
per shelf. She has 200
books. Will she have
enough shelf space?

Explain how you got
your answer.

Ao operation to multiplication. We
1. Complete the following: say that division is the inverse of

Example: multiplication. \

- . : \
320 + 8 is the inverse of 8 x 40 = 320 The inverse of 320 -8 =401is \
490 + 7 is the inverse of 7 x 70 = 490 exa) =l ame B = SR r \

inverse of 320 + 8 = 40. e A
360 + 6 is the inverse of 6 x 60 = 360

Division is the opposite or reverse l

™\

a. 320 = 8 is the same as b. 400 + 8 is the same as C. 240 =+ 4 is the same as

2. Complete the following:

Example:

325+ 8isthe inverse of 8 x 40 + 5 = 325
496 + 7 isthe same as 7 x 70 + 6 = 496
368 + 6 is the inverse of 6 x 60 + 8 = 368

a. 352 + 8 is the same as b. 448 + 8 is the same as C. 264 + 4 is the same as

3. Complete the following:
Example:
375+8
8 x 40 = 320. There is 55 left.

8 x 6 = 48. There is 7 left.
375 + 8 = 46 remainder 8

2 8 4 B 6



a. 459 + 8 is the same as

4. Calculate the following and then test your answer.

Example:

364 +5

=(300+50+14)+ 5

(300 +5) + (50 = 5) + (14 + 5)
60 + 10 + 2 remainder 4
=72 remainder 4

a. 463 +5=

d. 496 + 8 =

Cutting the rope and cash

a. Ben has a 435 m long rope. He needs 7 equal pieces. How long will each piece of rope be?2
b. Katlego has R180,00. He has to share it equally with his two brothers. How much will each boy get2

7\
b. 765 - 8 isthe same as c. 923 +- 4 isthe same as

Test your answer:

72x5

=350 + 10

= 360 plus the remainder 4
= 364

b.417 =7 = C.253+6=

e. 391 +5= f.157 +9 =




a.m. — any time in the morning between midnight and midday.

Example:
01:00 02:00 03:00 04:00 05:00 06:00

07:00 08:00 09:00 10:00 11:00 12:00
p.m. — any time in the afternoon or evening that is between midday and midnight.

Example:
1300 || 1400 || 1500 || 16:00 | | 17:00 || 18:00 |
| 19:00 || 20:00 || 21:00 || 22000 || 23:00 || 2400 |

1. Write down the times shown on the clock:

a.am b. Q .Qam d. Qam e. Qam.
me r—Jpm or —Jpm. or —Jpm.

@@»L}@@ @

g. h. . i

2. Write down the times shown on the clock:

Qam d. Qam e. Qam.
o —Jpm. orgpm o —Jpm.

=
2

W 98 & 98 U6




a.l;lam b. I;lam I;lam d. I;lam e. I;lam

pm or pm or p.m. or

ENCNEN=N!

f. g. h. . i

4. Draw the clock hands to show the following times on the clocks:

k. 01:25:03 |. 08:41:44 m. 16:50:57 n. 20:19:32 0. 23:37:59

Find in magazines

Find five pictures of watches in magazines, newspapers and advertisements.
Say why you would or would not buy it.

U5 918 17 96 98 2 26 22 78 38 28 245
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continued

Every Saturday | do a mountain bike race
month. Which month was it?

. These are my finishing times for one

1 hour 20 min

1 hour 15 min

1 hour 9 min

59 minutes

By how many minutes did | improve from my first to my fourth race?

5. Calculate the following:

Example: What is 2:45 + 1:10?
Add the hours: 2+ 1 =3

Add the minutes: 45 + 10 =55
The answer is 3:55

a. 210+ 1:30 = b. 3:30 +4:10 = c. 6:40 + 3:10 =

6. Calculate the following:

Example: What is 2:45 + 1:20?
Add the hours: 2+ 1=3

Add the minutes: 45 + 20 = 65

The minutes are 60 or more,

so subtract 60 from minutes (65 — 60 = 5 minutes)
and add 1 to hours (3 + 1 =4 hours)

The answer is 4:05

a. 1:10 + 2:55 = b. 4:40+3:30 = c. . 530+5:40=




7. Calculate the following:

Example: What is 4:10 — 1:05?
Subtract the hours: 4-1=3

Subtract the minutes: 10-5=5
The minutes are OK, so the answer is 3:05

a. 1:40-1:20 = b. 7:30 -4:20 = c. 2220-1:15=

8. Calculate the following:

Example: What is 4:10 — 1:35?
Subtract the hours: 4-1=3

Subtract the minutes:

10-35=-25
The minutes are less than O,

@ so add 60 to minutes (60 — 25 = 35 minutes)
and subfract 1 from the hours (3—1 =2 hours)

The answer is 2:35

a. 13:10-10:15= b. 4:20-3:30 = c. 8:30-6:40 =

1h 10°45”"

My friend and | did various physical activities and fimed ourselves. Here are the results on our two stopwatches.
What is the difference between our times?

16 98 17 96 ¢
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1. How many years are there in a:

Oh! And this is
a decagon. A
shape with ten
sides.

a. Decade®?¢

b. Century?

c. Millennium®e

2. Answer the following questions:

a. Let us count in decades.

1910, 1920, 1 930,

U

Century?
L]
Decade?
q
Deca -
means 10.
.
Decade means
10 years.
o y

-

Cent? Century?
Percent?
Centipede?

N,
N\

e
Oh, | think cent
means 100.

Yes, you are

correct.

Sounds almost
- like millipede.
Yes, it has a
- 1 000 legs.

Oh, so millennium
means 1 000
years. h

We do not write

the year 1920 as

1 920 because it
is a date.

b. Let us count in centuries.

1100, 1 200, 1 300,

c. What millennium will come nexte

1 000, 2 000,

3. How many:

a. Decades are there in a century?

b. Centuries are there in a millennium?@

233

c. Decades are there in a millennium?

4 5 6

Y 9 98 98 198 ¢



b3,

4

4. Complete the following:

a. 2decades = years b. 3 centuries = years
c. 3 millennia = years d. 9 centuries = years
e. 2 millennia = years f. 4 decades= years

g. 6 centuries = years h. 5 centuries = years

I. 7 decades = years j- 4 millennia = years

k. 9 millennia = years l. 1% centuries = years
m. 2% millennia = years n. 8% decades = years

5. Complete the following. The example will guide you.

a. 1995 =1 millennium, 9 centuries, 9 decades, 5 years

b. 1852 = , ; .

c. 1603 = , ; .

d. 1999 = , : :
®

e. 2010 =

6. What does “twenty ten” mean?

7. What does “He was born in the 20th century” mean?

8. What did people all over the world celebrate in 20007?

How old am 1?

Write your age in:

millennia
centuries
decades
years




1. Complete the table below on the food you prefer.

Cooked porridge

Cereal with added sugar
Cereal without added sugar
Bread

Fruit

Yoghurt @
| don’t eat breakfast

Bacon and eggs

Junk food
Healthy sandwich
Cooked meal

Junk food

Healthy sandwich
Cooked meal

2. Do you think you eat healthy food?

9 2 8 4 8 G ¥V J 0 W U e 18 U8



3. You asked all the children in your class the same questions. These were théir
responses. You still need to add up the tallies. Complete the last column.

Cooked porridge Y
Cereal with added sugar Y/
Cereal without added sugar M

Bread "

Fruit /A
Yoghurt /!

| don’t eat breakfast /i

Bacon and eggs

Junk food

/

A

Healthy sandwich

W

Cooked meal

Junk food

W

H

Healthy sandwich

M/

Cooked meal

W W

a. What is the most common breakfaste
b. What is the least common breakfaste
c. What is the most common lunch?

d. Do most children eat a healthy or unhealthy lunch?

Whye

e. How many children eat a cooked meal for supper?e

f. How many children don't eat breakfast?

Do you think it is healthy?

9. ls bacon and eggs a favourite meal?

Whye

Why or why not?

Tally competition ...

In pairs see who can count the tallies the fastest.

I I T T I T 0 T ) ol )
I I T T I T 0 T ) ol )
I I 00 0 0 0 0 o I

continued @




Paiia handling' continued

4. Compile a tally and frequency table with five categories using the information
below. We started the table for you by filling in the categories.

Name Exam score Name Exam score
Denise 55 Elias 65
John 45 Simon 30
Jason 85 Edward 25
Mathapelo 60 Susan a7
Beatrix 79 Philip 64
Opelo 59 Ben 77
Lisa 53 Lauren 49
Gugu 90 Tefo 60
Sipho 63 Alice 46
Lerato 51 Musa 73
Exam Score Tally Frequency
categories @
0-20
21- 40
41- 60
61- 80
81-100

5. You recorded the minimum temperatures per day for the past month.
The results are as follows:

12 13 9 10 11 12 11 7 11 10
10 7 8 12 12 8 13 8 9 9
10 12 10 11 7 11 7 7 13 9
10

Set up a frequency table for this set of data values, grouping the data in six
groups with intervals of two. You will need extra paper for this question.

J 9 2 8 4 B G ¥V 8



6. Look at the data collected below and answer the questions.
750 ml

Juice Water Milk Milk Juice Water

Water Milk Milk Juice Water Juice

Milk Milk Milk Milk Juice Water

Juice Water Milk Milk Juice Water

1 000 ml Water  Milk Milk Juice  Water Juice

1 Milk Milk Milk Milk Juice Water

a I Juice Juice Juice Water Water  Water
Milk Milk Milk Juice Water Milk

5 000 ml Milk Milk Milk Milk Juice Water

Juice Juice Juice Water Water  Water
Milk Milk Milk Juice Water Milk

Juice Juice Juice Water Water  Water

juice Juice Juice Water water  Water

You will need extra paper to complete these questions.

a. What are you going to collect?2 How will you do it2

b. How will you sort (organise) your data?e

c. Draw a bar graph.

d. Read the bar graph. Write a paragraph on your findings.

Tally competition ...

In pairs see who can count the tallies the fastest.

W I I T T 0 I 0 T ) o
I I T T I T 0 T ) ol )
W I I T TH I I 0 0 ol I

What could the possible reason be for these talliese Create your
own scenario. Draw a bar graph to represent your scenario.
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A

What is a polygon? Are all of these polygons? Are these the only polygons there are?

A 1 ¢

Triangle <:> Square I Pentagon

Rectangle Hexagon Heptagon Circle

1. Colour in all the quadrilaterals.

2. Answer the following:

a. Is arectangle a quadrilateral? Why?

b. Is a square a quadrilateral? Why?

28 4 8 6 ¢



3. Mark the shape a, b or c. Identify the shapes with:
a. curved sides only
b. curved and straight sides
C. straight sides only

4. Draw five of each. Note that they should look different from the 2-D shapes
above.

a. 2-D shapes with curved sides only.

b. 2-D shapes with curved and straight sides.

c. 2-D shapes with straight sides only

5. Find three shapes in nature or your environment with
e curved sides only
e curved and straight sides
 straight sides only
Make a drawing of each on a separate sheet of paper.
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230 ‘ 2=D shapes continued
F 2

6. Identify the following: Label under each shape.

Quadrilaterals; Pentagons; Hexagons; Heptagons/septagons.

7. Draw five of each, making sure they look different from the 2-D shapes above

a. Quadrilaterals

b. Pentagons

C. Hexagons

0 98 % 96 1

O —



8. Draw the following:

Two right angles

Two angles smaller than a
right angle

Two angles bigger than a
right angle

9. Describe each 2-D shape using the following:

a. Name of polygon

d. Right angles (show
them).

b. Sides: straight or curved

e. Angles smaller than a
right angle (show them)

c. Sides: same or unequal
length, (mark equal
sides)

f. Angles larger than a
right angle (show them)

a.Name:_ a. Name: a. Name:
b. Sides: _ b. Sides: b. Sides:
c. Sides: _ c. Sides: c. Sides:
d. Angles: d. Angles: d. Angles:
e. Angles: e. Angles: e. Angles:
f.Angles_|T Angles: f. Angles:

iv.

a. Name:
b. Sides:
c. Sides:
d. Angles:
e. Angles:

f. Angles:

Shape patterns

Draw a pattern using 5
different polygons.
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‘ Capacity/Volume

Which measuring instrument will you use to weigh objects?

o— | EEmm
—

3 | - .%%

i

B bR
aH
i

1. These sets of bottles are filled with various quantities of cold drink. Answer the
questions below.

.M m m)

3 s \ 2 s 3 I.:-i*n-n 1

\_

/

c. M M
Iy o ",
IE'-I'\-I'I | 2 bires

-

i. What is the total capacity of each set of bottles (with bottles filled up to the top
measuring line)?

0 98 9% 98 &



ii. How much cool drink is there in each set of bottles?

Litres Millilitres Litres and millilitres | As a fraction of a litre
a.2%e 2 250 ml 21 250 ml %e

C.

d.

e.

2. Write the following as ¢ and ml.

a. 3,5¢=

c. 92¢=

e. 7,250 ¢ =

g.1,725¢=

i. 925¢=

3. Joan used 2,5 ¢ of water for making coffee, 60,5 ¢ for doing her washing and 3,5 ¢ or
washing dishes. How much water did she use altogether?

3¢ 500 ml

b. 2,7¢=

d. 44¢=

f. 8,320¢=

h.

J-

10,76 ¢ =

11,15¢=

Confinue on an exira sheet of paper.

15 18 17
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‘ Capacity/Volume confinued

4. Say what is the:
e capacity of each container Capacity is...
e volume of the liquid in each container Volume is...
» difference between full capacity and volume

a. b.

Capacity: 500 ml Capacity:

Volume: 300 ml Volume:

Difference: 500 ml — 300 ml = 200 ml Difference: (O}

5. 1 have a 1 000 ml container. It is filled to the 500 ml mark . What should | do to fill it
to full capacity?

6. Make drawings to illustrate your answers. Jabu has 1 | and 250 m | of water to water
his vegetables. Calculate how much the following people have.

W 98 ¢ 94 U6



N

Sipho has
double the
volume.

Linda has 1 £ 500
ml to water her
vegetables.

James has 1 ¢
100 ml to water
his vegetables.

J

Gugu has one

fifth of what Jabu

has to water her
vegetables.

J

7. Round your answers off to the nearest litre.

Drawing 1

Drawing 2

Drawing 3

Drawing 4

Collect some junk mail. Find items where measurements

are given in millilitres and litre.

I need to mix the juice concentrate with water for us to
drink it. It says 1 € to 4 € of water. How much juice will |
have in totale

Millimetre fun . . .
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251(‘ Numbers 0 —20 000

»

How many of these blocks do you need to give you a total of 20 000 small cubes?

1. Complete the following:

a.10 000 + 1000 + 800 +40 + 2 =

b.10000+ 5000+ 300+ 60+ 9= | | ®

c. 10 000 + 4 000 + 700 + 6 =

d.10000+8000+60+7:I |

e. 10000 + 3 =

2. Write the number in the correct column:

Number | Ten thousands | Thousands Hundreds Tens Units
a. | 15519
b. | 14901
c. | 18007
d. | 10040
10 003

10 M 92 99 98 &



3. Write the numbers in question 2 in words.

4. Complete the following using the first question to guide you.

a. 13 847 = 1 ten thousand + 3 thousands + 8 hundreds + 4 tens + 7 units

continued &

15 18 17
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25p ‘ Numbers 0 —20 000 contfinued

5. Write the numbers in question 4 in words.

Continue on an extra sheet of paper.

6. Arrange the numbers from the smallest to the biggest.

a. 15147 ,15471,15174, 10 650

b.10 231, 10132, 10 123, 10 213

C. 12541, 12 145, 12 154 , 12 415

d. 18 639, 18 369, 18 693 , 18 396

e. 10505, 10 055, 10 550, 10 555

7. Fillin < or >.

a. 9248 Ig 9284 b. 10 320 Ig 10 230

c.11121 11112 d. 12 041 12 401
e. 13514 14 514 f. 11212 12 121
g. 15145 Ig 15154 h. 3798 Ig 3788

. 19987 19 978 ]. 16616 16 166

7 8 8 &4 | U 8 8 90 ¥ 98 98



8. What is the value of the underlined digit?

a. 9548 b. 14 874
c. 10587 d. 16 354
e. 18 201 f. 14 008

9. Complete the following:

Y 4 V1 A

a. Use each digit once, make the smallest 5-digit number:

b. Use each digit once, make the largest 5-digit number:

c.You can use a digit twice, make the smallest 5-digit number:

d. You can use a digit twice, make the largest 5-digit number:

All about numbers

What you need:
Newspaper.

— Find at least five, 5-digit numbers in a newspaper.

— What is the meaning of the 5-digit number?
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Cut-out 2

Mathematics Grade 5
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Mathematics Grade 5 Cut-out 3

Note: Make dice from these cut-outs. After assembling the dice, keep them in a safe place
because you will use them throughout the year.
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Mathematics Grade 5 Cut-out 4
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Mathematics Grade 5 Cut-out 6









